

2.2

$$\begin{aligned}\frac{\partial \rho}{\partial x_i}(t, x) &= -\frac{2x_i}{4t} \frac{1}{(4\pi t)^{\frac{n-1}{2}}} \exp\left(-\frac{\|x\|^2}{4t}\right) \\ &= -\frac{x_i}{2t} \rho(t, x) \quad (*)\end{aligned}$$

81)

$$\begin{aligned}\frac{\partial^2 \rho}{\partial x_i^2}(t, x) &= \frac{\partial}{\partial x_i} \left( -\frac{x_i}{2t} \rho(t, x) \right) \\ &= -\frac{1}{2t} \rho(t, x) - \frac{x_i}{2t} \frac{\partial \rho}{\partial x_i}(t, x) \\ &= \left( -\frac{1}{2t} + \frac{x_i^2}{4t^2} \right) \rho(t, x) \quad (\because (*))\end{aligned}$$

10方

$$\begin{aligned}\frac{\partial \rho}{\partial t}(t, x) &= -\frac{n}{2t} \frac{1}{(4\pi t)^{\frac{n}{2}}} \exp\left(-\frac{\|x\|^2}{4t}\right) + \frac{1}{(4\pi t)^{\frac{n}{2}}} \left( \frac{\|x\|^2}{4t^2} \right) \exp\left(-\frac{\|x\|^2}{4t}\right) \\ &= \left( -\frac{n}{2t} + \frac{\|x\|^2}{4t^2} \right) \rho(t, x)\end{aligned}$$

81)

$$\frac{\partial \rho}{\partial t}(t, x) = \frac{\partial^2 \rho}{\partial x_1^2}(t, x) + \dots + \frac{\partial^2 \rho}{\partial x_n^2}(t, x)$$

12.4

$$(1) \frac{\partial f}{\partial x_i}(x) = \frac{\partial}{\partial x_i}(g(r)) = \frac{\partial g}{\partial r}(r) \frac{\partial r}{\partial x_i} \quad (\text{連鎖公式})$$
$$= g'(r) \frac{x_i}{r}$$

と仮定

$$\boxed{\nabla f(x) = g'(r) \frac{x}{r}}$$

$$(2) \frac{\partial}{\partial x_i} \left( \frac{\partial f}{\partial x_i}(x) \right) = \frac{\partial}{\partial x_i} \left( \frac{g'(r)}{r} x_i \right)$$
$$= \left( \frac{\partial}{\partial x_i} x_i \right) \frac{g'(r)}{r} + x_i \frac{\partial}{\partial x_i} \left( \frac{g'(r)}{r} \right)$$
$$= \frac{g'(r)}{r} + x_i \left( \frac{g'(r)}{r} \right)' \frac{x_i}{r} \quad (\because (1))$$
$$= \frac{g'(r)}{r} + \frac{x_i^2}{r^2} g''(r) - \frac{x_i^2}{r^3} g'(r)$$

と仮定。従って

$$\Delta f(x) = \sum_{i=1}^n \left( \frac{g'(r)}{r} + \frac{x_i^2}{r^2} g''(r) - \frac{x_i^2}{r^3} g'(r) \right)$$
$$= \frac{ng'(r)}{r} + \frac{r^2}{r^2} g''(r) - \frac{r^2}{r^3} g'(r)$$
$$= \boxed{g''(r) + \frac{n-1}{r} g'(r)}$$